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What is a syllable?

- Syllable is a unit of pronunciation having one vowel sound, with or without
surrounding consonants, forming the whole or a part of a word; for example,
there are two syllables in water and three in inferno.

- A syllable is a single, unbroken sound of a spoken (or written) word. Syllables
usually contain a vowel and accompanying consonants.

- Syllables differ from phonemes in that a phoneme is the smallest unit of
sound; the number of syllables in a word is unrelated to the number of
phonemes it contains. For example: /b/, /k/, /t/, /ch/, /sh/, /ee/, /ai/, /ear/ are all
phonemes. The word ‘chat’ is made up of three phonemes (/ch/ /a/ /t/). The
word ‘light’ is made up of three phonemes (/I/ /igh/ /t/). However, both the
words ‘chat’ and ‘light” have only one syllable each.

- The number of times you hear a vowel (a, e, 1, 0, u) in a word 1s equal to the
number of syllables a word has. A good way to identify syllables is to think
about whether you need to change your mouth shape to say the next bit of the
word / the new syllable.



The nature of the Syllable

The Syllable may be defined both phonetically and phonologically.,
Phonetically (i.e. in relation to the way we produce them and the way
they sound), syllables are usually described as consisting of a centre
which has little or no obstruction to airflow and which sounds
comparatively loud; before and after this centre (i.e. at the beginning
and end of the syllable), there will be greater obstruction to airflow
and/or less loud sound. We will now look at some examples:

1) What we will call a minimum syllable is a single vowel in isolation
(e.g. the words 'are’ a:, 'or’ o:, 'err' 3:).

These are preceded and followed by silence. Isolated sounds such as
m, which we sometimes produce to indicate agreement, or S, to ask
for silence, must also be regarded as syllables.

i1) Some syllables have an onset - that is, instead of silence, they have
one or more consonants preceding the centre of the syllable:

'bar’ ba: 'key’ Ki: 'more’ mo:

i11) Syllables may have no onset but have a coda - that is, they end with
one or more consonants:

'am’ am 'ought’ o:t 'ease’ 1:z

1v) Some syllables have both onset and coda:

'ran’ ran 'sat’ sat 'fill’ fil



Phonologically: It is simplest to start by looking at what can occur in initial
position - at the beginning of the word. We find that the word can begin with a
vowel, or with one, two or three consonants. No word begins with more than
three consonants. In the same way, we can look at how a word ends; it can end
with a vowel, or with one, two, three or (in a small number of cases) four
consonants. No current word ends with more than four consonants.
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The structure of the English syllable: syllable onsets

If the first syllable of the word in question begins with a vowel (any
vowel may occur, though u is rare) we say that this initial syllable has
a zero onset.

One consonant Syllable: If the syllable begins with one consonant,
that initial consonant may be any consonant phoneme except N; Z is
rare.

Two-consonant syllables. When we have two or more consonants
together we call them a consonant cluster.

Initial two-consonant clusters are of two sorts in English:

One sort is composed of s followed by one of a small set of
consonants; examples of such clusters are found in words such as
'sting' stIN, 'sway’ swei, 'smoke' sm@UKk. The s in these clusters is
called the pre-initial consonant and the other consonant (t, w, m in the
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above examples) the initial consonant. These clusters are shown in
Table 2.
Table 2 Two-consonant clusters with pre-initial s
Pre-initial s followed by:

INITIAL
p t kb d ¢ £ 0 s [ h v 0 z 3 m on oy
spin- stk skim - - - fp - - - - == e = mel gnav -

The other sort begins with one of a set of about fifteen consonants,
followed by one of the set 1, r, w, j as in, for example, 'play’ plei, 'try’
trai, 'quick’ kwik, 'few’ fju:;. We call the first consonant of these
clusters the initial consonant and the second the post-initial. There are
some restrictions on which consonants can occur together. This can
best be shown in table form, as in Table 3.

Table 3 Two-consonant clusters with post-initial I, r, w,

p t kb d ¢ £ 0 s [ h o vdzim n pl 1 wj
gi ple - e blek - _qlu flat - sp - - - - - - I
Er pret tret krar brip drip gom frar Orov P fru- - - - - - - o o o oo
Bowo- ot kwk - dwel? - fwxtswm? - - - - - - - - o o o
E.i___r_!jJ: ]jum kju: bjuti djw ¥ fjm ¥ sjw - hjwdg vjw - - - mjuz quz - lwd - - -

Initial three-consonant clusters: Examples of three consonant initial
clusters are: 'split’ split, 'stream’ stri:m, 'square' skwe@. The s is the

pre-initial consonant, the p, t, k that follow s in the three example
<



words are the initial consonant and the 1, r, w are post-initial. In fact,
the number of possible initial three-consonant clusters is quite small
and they can be set out in full (words given in spelling form):

POST-INITIAL
I r W |
P 'splay’ 'spray’ - 'spew’
splusinitiall T - 'string’ - 'stew’
k 'sclerosis’ 'screen’  'squeak’ 'skewer’
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Final Consonant Cluster

Here we find the possibility of up to four consonants at the end of a
word. If there is no final consonant we say that there is a zero coda.
When there is one consonant only, this 1s called the final consonant.

Any consonant may be a final consonant except h, w, j.

Final Two-Consonant Cluster: Two sorts



1. one being a final consonant preceded by a pre-final consonant: The
pre-final consonants form a small set: m, n, N, 1, s. We can see these
in 'bump' bVmp, 'bent' bent, 'bank' b{Nk, 'belt' belt, 'ask' a:sk.

2. and the other a final consonant followed by a post-final consonant:
The post-final consonants also form a small set: s, z, t, d, T; example
words are: 'bets' bets, 'beds' bedz, 'backed' baekt, 'bagged' b{gd,
'eighth’ eltT.

Final Three-Consonant Cluster: Two Types

1- the first is pre-final plus final plus post-final, as set out in the
following table:

Pre-final Final Post-final
'helped' he I p t
'banks' b ) k S
'bonds'’ bp n d z
'twelfth' twe | f 0

2- The second type shows that more than one post-final consonant can
occur 1n a final cluster: final plus post-final 1 plus post-final 2. Post-
final 2 is again one of s, 7, t, d, T.

Pr&ﬁn_al Final Post-final 1 Post-final 2
ifths' fi - f i 5
"next’ ne - k 5 t
'lapsed' | - p S t




Final Four-Consonant Clusters

Most four-consonant clusters can be analysed as consisting of a final
consonant preceded by a pre-final and followed by post-final 1 and
post-final 2, as shown below:

Pre-final Final Post-final1  Post-final 2
'twelfths' twe I f i g
'‘prompts' ~ pro m P t S

A small number of cases seem to require a different analysis, as
consisting of a final consonant with no pre-final but three post-final

consonants:

Pre-final Final  Postfinal1 Post-final2 Post-final 3

'sixths'  sI — s 0 5
'texts'  fe - k 8 t 5
To sum up, we may describe the English syllable  as having the following maximum phonological structure:

pre- e posts pre- post-  post-  post-
initial intia ]nitiall1 YOWEL ﬁ fina final  final final |
1 2 3] |

onsT CODA
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Strong and Weak Syllables

* One of the most noticeable features of English pronunciation is that
some of its syllables are strong while many others are weak. In
weak syllables, the vowel tends to be shorter, of lower intensity
(loudness), and different in quality. For example, the word ‘data’
/deita/ whose second syllable is weak and shorter than the first one.
It 1s less loud as well.

* In a word like 'bottle’ /'bot(o)l/, the weak second syllable contains
no vowel at all, but consists entirely of the consonant []]. We call
this a syllabic consonant.

Three Ways of Characterizing Strong and Weak Syllables

1. We could describe them partly in terms of stress (that strong
syllables are stressed and weak ones are unstressed).

2. The strong syllable usually has one of vowels, diphthongs and
triphthongs as its peak, but not 9, 1, u.

3. The weak syllables are in the following vowels such as 9, 1, u with
no coda (zero coda).

The most important thing to note at present is that any strong syllable
will have as its peak one of the vowel phonemes (or possibly a
triphthong), but not a, 1, u.

Where can we find weak syllables??
« WEAK SYLLABLE
* 1- At the end of a word, we may have a weak syllable ending
with a vowel (with no coda). These vowels are:

q



o (schwa) Better /beto/ Centre /sento/
* 1 Happy /hapi/ Carry /keri/ - a close front unrounded vowel
e u Thank you /0znk. ju/ - a close back rounded vowel

* We also find weak syllables in word-final position with a coda if
the vowel is o (schwa).

e For example: * Open /oupan/ * Sharpen /[a: pon/

* 3 Inside a word, we can find the above vowels acting as peaks
without codas in weak syllables.

* Examples: « Photograph /foOtagra: {/ « Radio /rerdio0/

1. The vowel o (schwa). We find this vowel in the following:
1) Spelt with 'a'; strong pronunciation would have a

* Attend /2 tend/; barracks /' baraks/; character / karakta/



ii) Spelt with ‘ar’; strong pronunciation would have az
‘particular’ patikjolo ‘molar’ moaulo
‘monarchy’ monoki
iii) Adjectival endings spelt ‘ate’; strong pronunciation would have
er

‘intimaze’ mtmot ‘accurate’ sekjorat
‘desolare’ desolot (although there are exceptions to this:
‘private’ is usually prarvit)
iv) Spelt with ‘0’; strong pronunciation would have o or =G
‘tomorrow’ tomprou ‘potato’ pstertsu

‘carrot’ kzerot
v) Spelt with ‘or’; strong pronunciation would have oz
‘forget’ foget ‘ambassador’ 2ambasado
‘opportunity’ opatjuinoti
vi) Spelt with ‘e’; strong pronunciation would have e
‘settlement’ setlmont ‘violet’ varolot
‘postmen’ poustmon
vii) Spelt with ‘er’; strong pronunciation would have ax
‘perhaps’ pahzps ‘stronger’ stroggo
‘superman’ suipamseen
viii) Spelt with ‘u’; strong pronunciation would have a
‘Autumn’ oxtom ‘support’ sopo:t
‘halibut’ haelibot

ix) Spelt with ‘ough’ (there are many pronunciations for the letter-
sequence ‘ough’)
‘thorough’ Oara  ‘borough’ bare
ix) Spelt with ‘ou’; strong pronunciation might have au
‘gracious’ greifos  ‘callous’ keelos

R
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« Syllabic m

As well as the occurrence of syllabic-n in unstressed
syllables, syllabic-m can occur in similar environments. Examples
of syllabic-m, which similarly take the full measure of a syllable,
1.e. taking the nuclear vowel slot in the syllable, include the
following.

rhythm  /'ridom/ — [ 10m]
bottom /'botom/ — ['botm]
blossom /'blbpsom/ — [ 'blposm]

Syllabic-ng
In certain environments, the third English nasal /n/ may also
occur as a syllabic consonant. Consider the following:

broken /'brovkon/ —  ['biovkn]

Here, the /on/ sequence is compressed. Such compression
could plausibly yield syllabic-n in the nuclear vowel slot, i.e.
[ 'biovkn]. Further, in some instances, the occurrence of a velar
plosive (here /k/) adjacent to a nasal (here /n/) leads to the nasal
assimilating a feature of the velar plosive. This yields a velar
nasal. Of course, the English velar nasal is /y/ (as in the
word wing /win/). Hence, we can argue that [ bioukn]
undergoes an assimilatory process to yield [ biovkn]. This
assimilation is more likely to occur if the nasal consonant /n/
occurs between two velar consonants, as in the following
example.

'Y



broken key /'brovkenki/ —  ['brovky ki]

Syllabic liquids
There are two ‘liquid’ phonemes in English: /1/ as in look,
and /r/ as in run.

Syllabic-1

Examples of syllabic-1 filling the vowel slot in unstressed
syllables include the following.
handle /'haendol/ — [ handi]

bottle /'botol/ — ['boti]
bagel /'beigol/ — ['beigl]

SYLLABIC | The most obvious case is where we have a word
ending with one or more consonant letters followed by ‘le’
Alveolar Cattle /ketl/ Wrestle /resl/ Bottle /botl/ Muddle
/madl/ Non-alveolar Couple /kapl/ Struggle /stragl/ Trouble
/trabl/ Knuckle /nakl/.

We also find syllabic 1 in words spelt with one or more
consonant letters followed by ‘al’ or ‘el’: ‘al’ Petal /petl/ Pedal
/pedl/ Papal /peipl/ ‘el’ Panel /panl/ Camel /keeml/ Parcel /pa:
sl/.

Syllabic-r

Roach (2009:70) provides the example of the word particular,
which 1s likely to be pronounced as /prtikjolr/ by most
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Americans in careful speech, 1.e. with syllabic-r, but as
/patikjola/ by Standard British English speakers.

A further example is the word perhaps. This is likely to be
pronounced with syllabic-r in most American accents, 1.e.
/praeps/, but without syllabic-r in Standard British English, i.e.
/pohaeps/. Further examples include:

history /'histor/ — [ histii]

blustery /'blastort/ — [ blasti]
preference /'preforons/ — [ 'prefions]
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 Syllabic m

well as the occurrence of syllabic-n in  unstressed

syllables, syllabic-m can occur in similar environments. Examples
of syllabic-m, which similarly take the full measure of a syllable,
i.e. taking the nuclear vowel slot in the syllable, include the
following.

rhythm  /'r10om/ — [ 110m]
bottom /'botom/ — ['botm]
blossom /'blbpsom/ — [ 'blpsm]
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Syllabic-ng
In certain environments, the third English nasal /n/ may also
occur as a syllabic consonant. Consider the following:

broken ['brovkon/ —  ['biouvkn]

Here, the /on/ sequence is compressed. Such compression
could plausibly yield syllabic-n in the nuclear vowel slot, 1.e.
[ ' biovkn]. Further, in some instances, the occurrence of a velar
plosive (here /k/) adjacent to a nasal (here /n/) leads to the nasal
assimilating a feature of the velar plosive. This yields a velar
nasal. Of course, the English velar nasal is /y/ (as in the
word wing /win/). Hence, we can argue that [ bioukn]
undergoes an assimilatory process to yield [ biovkn]. This
assimilation is more likely to occur if the nasal consonant /n/
occurs between two velar consonants, as in the following
example.

broken key /'bravkenki/ —  ['biouky ki]

Syllabic liquids
There are two ‘liquid’ phonemes in English: /1/ as in look,
and /r/ as in run.

Syllabic-1

Examples of syllabic-1 filling the vowel slot in unstressed
syllables include the following.
handle /'handal/ — [ handi]

bottle /'botol/ — ['botl]
bagel /'beigol/ — [ 'beigl]
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SYLLABIC | The most obvious case 1s where we have a word
ending with one or more consonant letters followed by ‘le’
Alveolar Cattle /kaetl/ Wrestle /resl/ Bottle /botl/ Muddle
/madl/ Non-alveolar Couple /kapl/ Struggle /stragl/ Trouble
/trabl/ Knuckle /nakl/.

We also find syllabic 1 in words spelt with one or more
consonant letters followed by ‘al’ or ‘el’: ‘al’ Petal /petl/ Pedal
/pedl/ Papal /peipl/ ‘el’ Panel /panl/ Camel /keeml/ Parcel /pa:
sl/.

Syllabic-r

Roach (2009:70) provides the example of the word particular,
which 1s likely to be pronounced as /prtikjolr/ by most
Americans in careful speech, 1.e. with syllabic-r, but as
/patikjala/ by Standard British English speakers.

A further example is the word perhaps. This 1s likely to be
pronounced with syllabic-r in most American accents, 1.e.
/praeps/, but without syllabic-r in Standard British English, 1.e.
/pohaeps/. Further examples include:

history /'histor/ — [ histii]

blustery /'blastor/ — [ 'blastii]
preference /'preforons/ — [ prefions]

|
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 Stress in Simple Words

Stress 1s the degree of force that the speaker makes on the specific
syllable or words.

Stress refers to the degree of force used in producing a syllable.
Father /fa:00/, open /oupn/, camera /kemra/ (in such words the first

syllable is stressed).

Potato/pateitou/, apartment/opa:tmont/, relation/rileifn/ (the second

syllable is stressed).

Simple words mean those words which contain no prefixes or
suffixes.

There are very simple rules about word stress:

1. One word has only one stress. (One word cannot have two
stresses. If you hear two stresses, you hear two words. Two
stresses cannot be one word. It is true that there can be a
"secondary" stress in some words. But a secondary stress is much
smaller than the main [primary] stress, and is only used in long
words.)

2. We can only stress vowels, not consonants.
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Word stress means pronouncing one syllable of a multisyllabic
word with greater emphasis (stress) than the other syllables in the
word.

3. Two-syllable words have stress on the second syllable if that
syllable is long. If it is short, the first syllable is stressed .

We will mark a stressed syllable in transcription by placing a
small vertical line (') high up, just before the syllable it relates to;
the words quoted above will thus be transcribed as follows:

fa:0a pa'tertau a'baut
aupan a'pa:tmant r'stiv
kemra ri'lerfn pa‘hasps

Ways of Identifying Stress

Stress can be studied from the point of view of production and of
perception.

The production of stress depends on the speaker using more muscular
energy than 1s used for unstressed syllables.

From the perception point of view, all stressed syllables have one
characteristic in common, and that is prominence. Stressed syllables
are more prominent than unstressed syllables.

YA
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What Makes a Syllable Prominent? Four Factors:

There are four factors that make a syllable prominent: loudness,
length, pitch and quality.

1. loudness: Most people seem to feel that stressed syllables
are louder than unstressed syllables; in other words,
loudness 1s a component of prominence. In a sequence of
identical syllables (e.g. ba:ba:ba:ba:), if one syllable is
made louder than the others, it will be heard as stressed.

2. Length: If one of the syllables in our "nonsense word"
ba:ba:ba:ba: 1s made longer than the others, there 1s quite a
strong tendency for that syllable to be heard as stressed.

3. Pitch: pitch in speech is closely related to the frequency of
vibration of the vocal folds. It refers to the rate of vibrations
producing a sound; the degree of highness or lowness of a
tone. If one syllable of our "nonsense word" is said with a
pitch that is noticeably different from that of the others, this
will have a strong tendency to produce the effect of
prominence. For example, if all syllables are said with low
pitch except for one said with high pitch, then the high-
pitched syllable will be heard as stressed and the others as
unstressed. To place some movement of pitch (e.g. rising
or falling) on a syllable is even more effective in making it
sound prominent.
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4. Quality: A syllable will tend to be prominent if it contains a
vowel that is different in quality from neighbouring vowels. If
we change one of the vowels in our "nonsense word" (e.g.

ba:bi:ba:ba:) the "odd" syllable bi: will tend to be heard as
stressed.

Prominence, then, is produced by four main factors: (i) loudness, (i1)
length, (i11) pitch and (iv) quality. Generally these four factors work
together in combination, although syllables may sometimes be made
prominent by means of only one or two of them. Experimental work
has shown that these factors are not equally important; the strongest
effect is produced by pitch, and length is also a powerful factor.
Loudness and quality have much less effect.

Levels of Stress

e There are 3 levels of stress in English: primary, secondary, and
completely unstressed syllables.

* Some syllables are louder and longer, some syllables are
shorter and quieter, and some syllables are in-between.

1. Primary Stress: The syllable with the Primary
Stress is the loudest and longest syllable in a word. In
one-syllable words, that one syllable gets the primary
stress.

« Examples:



“blue” = /BLUUU/
“ten” = /TEHN/

The only exceptions to this rule are a handful of function
words like “the” which are usually unstressed or reduced.

Primary stress is marked in IPA by putting a raised
vertical line ['] at the beginning of the syllable.

2. Secondary Stress: These are the syllables that are
stressed, but not as much the primary stress, so they are loud
and long with a change in pitch, but not as loud or as long as
the syllables that get the primary stress. The change in pitch
on the vowel is not quite as noticeable.

Example:

“disappear” = /DIH-suh PEEER/ (syllable with secondary
stress 1s underlined)

Secondary stress is marked with a lowered vertical line [ ] at
the beginning of the syllable.

3. The completely Unstressed Syllable: These are the
syllables that have no stress at all so we rush through them and
shorten them so much that the vowel in the syllable is almost
completely gone. The change in pitch on the vowel is barely
noticeable, but it is there.

Example:
“prepare” = /pruh-PAIR/ (unstressed syllable is underlined)

AR



In English, almost all of these have schwa [o] for their vowel,
though [i] will ~ also  often  be  unstressed, like
the [1] in happy [ 'hepi]. (Very rarely, another non-schwa
vowel might be unstressed, like the [o] of potato [pa'teito] for
most speakers.)
A good example of the difference between secondary stress
and the complete absence of stress is the final syllable of
delegate, used as a verb and used as a noun.

[ 'delo get] verb:  You have to delegate your
responsibilities

[ delogot] noun: We elected a delegate to the national
committee.

PP A ( 3J¢.'AM\ (6 $4aa

What Makes a Syllable Prominent? Four Factors:

In order to decide on stress placement, it is necessary to make use of
some or all of the following information:

1) Whether the word is morphologically simple, or whether it is
complex as a result either of containing one or more affixes (i.e.
prefixes or suffixes) or of being a compound word.

i1) What the grammatical category of the word is (noun, verb,
adjective, etc.).

i11) How many syllables the word has.
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1v) What the phonological structure of those syllables is.

Single- syllable words:

One-syllable words present no problems: if they are pronounced in
1solation they are said with primary stress.

» A strong syllable has a rhyme with either (1) a syllable peak
which 1s a long vowel or diphthong, with or without a
following consonant (coda). Examples:

* or (2) a syllable peak which 1s a short vowel, one of

I, e, & A,D,U,
followed by at least one consonant. Examples: ‘bat’ /bat/

'much' mat| 'pull' pul

A weak syllable has a syllable peak which consists of one of the
vowels {, 1, u and no coda except when the vowel 1s a. Syllabic
consonants are also weak. Examples:

'fa' in 'sofa’ 'saufa 'zy' in 'lazy' 'le1zi

'flu' in 'influence' 'iInfluans 'en' 1n 'sudden' 'sadn

The vowel [ may also be the peak of a weak syllable if it occurs before
a consonant that is initial in the syllable that follows it. Examples:
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'b' 1n 'herbicide' 'h3:bisaid 'e' 1n 'event' 1'vent

(However, this vowel is also found frequently as the peak of stressed syllables, as in 'thinker'6imka, 'mput' ‘input.)

The important point to remember is that, although we do find unstressed strong syllables (as in the last
syllable of 'dialect' 'daralekt), only strong syllables can be stressed. Weak syllables are always unstressed. This
piece of knowledge does not by any means solve all the problems of how to place English stress, but it does help in
SOme Cases.
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Stress in Two syllable Words

Two-syllable words GAU -« ExT

In the case of simple two-syllable words, either the first or the second syllable will be stressed - not both. There 1s a
general tendency for verbs to be stressed nearer the end of a word and for nouns to be stressed nearer the
beginning. We will look first at verbs. If the final syllable 1s weak, then the first syllable s stressed. Thus:

‘'enter’ 'entd 'open’' 'aupan
'envy' 'envi ‘equal' "i:kwal

A final syllable 1s also unstressed if it contains au (e.g. 'follow' 'fplau, 'borrow' 'borau).
If the final syllable is strong, then that syllable is stressed even if the first syllable 1s also strong. Thus:

apply' a'plai attract’ a'traekt 'rotate’ rau'teit
'arrive' a'rav 'assist' 2'sist 'maintain' mein'tern

Two-syllable simple adjectives are stressed according to the same rule, giving:

lovely''lavli 'divine’ di'vain
'even' 'I:van 'correct' ka'rekt
'hollow' 'hnlau 'alive' 2'larv

As with most stress rules, there are exceptions; for example: 'honest' 'pnist, ‘perfect' 'p3:fikt, both of which end
with strong syllables but are stressed on the first syllable.
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Nouns require  diffrent rule e il fall on the firstsyllable wnless the firt slabl 1s weak and the
second syllble 1 trong, Thus

money'man divan' dlven
wroduet prodakt— balloon'bau
lorynx'laermks—— desgn' di'zam

(ther two-sylable words such as adverbs s to behave ke verbs and adjectives,

Three-syllable words

Here we find a more complicated picture. One problem is the difficulty of identifying three-syllable words which
are indisputably simple. In simple verbs, if the final syllable is strong, then it will receive primary stress. Thus:

‘entertain’ enta'tern resurrect’ ,reza'rekt

If the last syllable is weak, then it will be unstressed, and stress will be placed on the preceding (penultimate)
syllable if that syllable is strong, Thus:

‘encounter’ 1y kaunta 'determine 'd'ts:mn
[fboth the second and third syllables are weak, then the stress falls on the nitial syllable:

‘parody' ‘pradi ‘monitor' 'monita
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Nouns require a slightly different rule. The general tendency is for stress to fall on the first syllable unless it 1s
weak. Thus:

'quantity’ 'kwontati 'emperor' 'empara
'‘custody' 'katadi 'enmity' 'enmati

However, in words with a weak first syllable the stress comes on the next syllable:
'mimosa'mi'mauza 'disaster' di'za:sta
'potato’ pa'teitav 'synopsis' SI'nDpsIs
When a three-syllable noun has a strong final syllable, that syllable will not usually receive the main stress:

'Intellect' 'intalekt 'marigold' 'marigauld
‘alkali' 'zlkalar 'stalactite' 'steloktart

Adjectives seem to need the same rule, to produce stress patterns such as:
'opportune’ 'ppatju:n 'insolent' 'Insalant

'derelict' 'deralikt anthropoid' '®n0rapord

The above rules certainly do not cover all English words. They
apply only to major categories of lexical words (nouns, verbs and
adjectives in this chapter), not to function words such as articles and
prepositions.
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Complex Word Stress

Complex words are of two major types :
1. words made from a basic stem word with addition of an affix.

2.compound words. which are made of two (or occasionally more)
independent English words (e.g. 'ice-cream’, 'armchair’).

Affixes:

Affixes are of two sorts in English : prefixes, which come before the
stem (e.g. prefix 'un-' + stem Pleasant' — 'unpleasant’) and suffixes,
which come after the stem (e.g. stem 'good' + suffix '-ness;-
'goodness').

Affixes will have one of three possible types of word stress:

a) The affix itself receives the primary stress (e.g.'semi- '+'circle' 's:kl
—> 'semicircle' 'semis:kl; '-ality'+'person’ 'p:sn — 'personality’
p:sn'lti).

b) The word i1s stressed just as if the affix was not there (e.g.'pleasant’,
'pleznt, 'unpleasant’ An'pleznt, 'market' 'm:kt, 'marketing', ‘m:kitin).

c) The stress remains on the stem, not the affix, but is shifted to a
different syllable (e.g. 'magnet"magnt, 'magnetic' maeg'netk).

Suffixes

Suffixes carrying primary stress themselves. If the stem consists of
more than one syllable there will by a secondary stress on one of the
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syllables of the stem. This cannot fall on the last syllable of the stem,
and 1s, if necessary, moved to an earlier syllable. For example, in
Japan' /d3a pan/ the primary stress is on the last syllable , but when
we add the stress-carrying suffix '-ese' the primary stress is on the
suffix and the secondary stress is placed not on the second syllable but
on the first: 'Japanese' /dzapo ni:z/

e '-ec': refugee’ refju'dzis; 'evacuee' 1,vakju'n:

e '-cer': 'mountaineer’ maunti'nia; 'volunteer' vplan'tia
e '-ese": 'Portuguese' po:tfa'giiz; journalese' d3s:nli:z
e '-ctte”: 'cigarette’ sigr'et; 'launderette' lo:ndr'et
e 'esque": 'picturesque’ piktir'esk

 Suffixes that do not affect stress placement
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'-able": 'comfort' 'kamfat; 'comfortable' 'kamfatabl
'-age": 'anchor' '®&nka; 'anchorage' '&nkrid3

'refuse’ (verb) ri'fju:z; 'refusal’ ri'fju:zl

"-en": 'wide' 'waid; 'widen' 'waidn

'-ful': 'wonder' 'wanda; 'wonderful' 'wandafly

-ing" 'amaze' 3'meiz; 'amazing' 9'meizin

"like": 'bird' 'bs:d; 'birdlike' 'b3:dlaik

"-less": 'power' 'pauva; 'powerless' ‘pavalas

"-ly": 'hurried' 'harid; 'hurriedly' "haridli

"-ment' (noun): 'punish' 'pAnif; 'punishment' 'panifmant

"-ness": 'yellow' 'jelau; 'yellowness' 'jelaunas

"-ous": 'poison' 'paizn; 'poisonous' 'paiznas

"-fy: 'glory' 'gbiri; 'glorify' 'gla:rifar

"-wise'": 'other' 'A02; 'otherwise' 'Adawaiz

'-y' (adjective or noun): 'fun' 'fAn; ‘funny' 'fani

(*-i1sh' in the case of adjectives does not affect stress placement: 'devil' 'devl; 'devilish' 'dev]if; however,

lal:

verbs with stems of more than one syllable always have the stress on the syllable immediately
preceding 'ish' - for example, 'replenish’ ri'plenif, 'demolish' di'molif)

Suffixes that influence stress in the stem

In these examples primary stress 1s on the last syllable of the stem.

o cous”  ‘'advantage' ad'vaintidz; 'advantageous' ,e@dvon'terdzes
o graphy: 'photo'  'fautou; ‘photography'  fa'tdgrafi

o al" ‘proverb’  'proas:b; ‘proverbial'  pra'va:bial
o ic" 'climate’  'klarmat; ‘climatic' klar'metik
o “ion" ‘perfect’  'p3:fikt; perfection’  pa'fek(n

o “ious: ‘'injure'  'mdszo; 'Injurious’ in'dsvarias
o ty" ‘ranquil'  'tronkwil;  'tranquillity'  treen’kwilati
o ive: reflex'  ri;fleks: reflexive’ ri'fleksiv
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Types of Complex Word Stress

Complex words are of two major types :
1. words made from a basic stem word with addition of an affix.

2.compound words. which are made of two (or occasionally more)
independent English words (e.g. 'ice-cream’, 'armchair’).

Affixes:

Affixes are of two sorts in English : prefixes, which come before the
stem (e.g. prefix 'un-' + stem Pleasant' — 'unpleasant’) and suffixes,
which come after the stem (e.g. stem 'good' + suffix '-ness;-
'goodness').

Affixes will have one of three possible types of word stress:

a) The affix itself receives the primary stress (e.g.'semi- '+'circle' 's:kl
—> 'semicircle' 'semis:kl; '-ality'+'person’ 'p:sn — 'personality’
p:sn'alti).

b) The word i1s stressed just as if the affix was not there (e.g.'pleasant’,
'pleznt, 'unpleasant’ An'pleznt, 'market' 'm:kt, 'marketing', ‘m:kitin).

c) The stress remains on the stem, not the affix, but is shifted to a
different syllable (e.g. 'magnet"magnt, 'magnetic' maeg'netk).

Suffixes
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Suffixes carrying primary stress themselves. If the stem consists of
more than one syllable there will by a secondary stress on one of the
syllables of the stem. This cannot fall on the last syllable of the stem,
and 1s, if necessary, moved to an earlier syllable. For example, in
Japan' /d3a pan/ the primary stress is on the last syllable , but when
we add the stress-carrying suffix '-ese' the primary stress is on the
suffix and the secondary stress is placed not on the second syllable but
on the first: 'Japanese' /dzapo ni:z/

e '-ee: 'refugee’ refju'dzi; 'evacuee' 1, vekju':

e '-ecer': 'mountaineer’ mauntr'nid; 'volunteer' volon'tio
e '-ese": 'Portuguese' po:tfa'gi:z; journalese' d3s3:nli:z
o '-ette": 'cigarette’ sigr'et; 'launderette’ lo:ndr'et
e 'esque': 'picturesque'’ piktir'esk

 Suffixes that do not affect stress placement
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'-able": 'comfort' 'kamfat; 'comfortable' 'kamfatabl
'-age": 'anchor' '®&nka; 'anchorage' '&nkrid3

'refuse’ (verb) ri'fju:z; 'refusal’ ri'fju:zl

"-en": 'wide' 'waid; 'widen' 'waidn

'-ful': 'wonder' 'wanda; 'wonderful' 'wandafly

-ing" 'amaze' 3'meiz; 'amazing' 9'meizin

"like": 'bird' 'bs:d; 'birdlike' 'b3:dlaik

"-less": 'power' 'pauva; 'powerless' ‘pavalas

"-ly": 'hurried' 'harid; 'hurriedly' "haridli

"-ment' (noun): 'punish' 'pAnif; 'punishment' 'panifmant

"-ness": 'yellow' 'jelau; 'yellowness' 'jelaunas

"-ous": 'poison' 'paizn; 'poisonous' 'paiznas

"-fy: 'glory' 'gbiri; 'glorify' 'gla:rifar

"-wise'": 'other' 'A02; 'otherwise' 'Adawaiz

'-y' (adjective or noun): 'fun' 'fAn; ‘funny' 'fani

(*-i1sh' in the case of adjectives does not affect stress placement: 'devil' 'devl; 'devilish' 'dev]if; however,

lal:

verbs with stems of more than one syllable always have the stress on the syllable immediately
preceding 'ish' - for example, 'replenish’ ri'plenif, 'demolish' di'molif)

Suffixes that influence stress in the stem

In these examples primary stress 1s on the last syllable of the stem.

o cous”  ‘'advantage' ad'vaintidz; 'advantageous' ,e@dvon'terdzes
o graphy: 'photo'  'fautou; ‘photography'  fa'tdgrafi

o al" ‘proverb’  'proas:b; ‘proverbial'  pra'va:bial
o ic" 'climate’  'klarmat; ‘climatic' klar'metik
o “ion" ‘perfect’  'p3:fikt; perfection’  pa'fek(n

o “ious: ‘'injure'  'mdszo; 'Injurious’ in'dsvarias
o ty" ‘ranquil'  'tronkwil;  'tranquillity'  treen’kwilati
o ive: reflex'  ri;fleks: reflexive’ ri'fleksiv
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Stress in Complex Words

Prefixes and compound words
Prefixes

* the best treatment seems to be to say that stress in words with
prefixes is governed by the same rules as those for polysyllabic
words without prefixes.

* Compound Words

When is primary stress placed on the first constituent word of the
compound and when on the second? Both patterns are found. A few
rules can be given, although these are not completely reliable. Perhaps
the most familiar type of compound 1s the one which combines two
nouns and which normally has the stress on the first element, as in:

"tyvpewTriter' 'taipraito
'car ferrv' 'ka:feri
'sunrise' 'sanrail=z
'sultcase' 'surtkers

"teacup”' 'ti:kap
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However, a number of compounds receive stress instead on the
second element. The first words in such compounds often have
secondary stress. For example, compounds with an adjectival first
element and the -ed morpheme at the end have this pattern.

.bad-'tempered
Jhalf-'timbered
,heavy-"handed

Compounds in which the first element is a number in some form
also tend to have final stress:

.three-'wheeler
.,second-'class

Jive-"finger

Compounds functioning as adverbs are usually final-stressed:
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Jhead'first
_JNorth-'"East

,down'stream

Finally, compounds which function as verbs and have an adverbial
first element take final stress:

,down'grade

.back-"pedal

111-""treat

e Variable Stress

Stress position may vary for one of two reasons: either as a result of
the stress on other words occurring next to the word in question, or
because not all speakers agree on the placement of stress in some
words. The former case 1s an aspect of connected speech that the stress
on a final-stressed compound tends to move to a preceding syllable
and change to secondary stress if the following word begins with a

strongly stressed syllable.
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,bad-'tempered  but a ,bad-tempered 'teacher
half-timbered but a ,half-timbered 'house

heavy-'handed  but a .heavy-handed 'sentence

The second 1s not a serious problem, but 1s
one that foreign learners should be aware of.

A well-known example is 'controversy', which is pronounced by some
speakers as /' kontrova:si/ and by others as

/kon'trovosi/. It would be quite wrong to say that one version was
correct and one incorrect. Other examples of different possibilities are
'ice cream’

(etther ,ais krizm or 'ars krim)
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